Home Learning 4.5.20-8.5.20
Maths Answer 
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[image: ][image: ]Lesson 2: tenths as a decimal. 














	











[image: ][image: ]
	














[bookmark: _GoBack]Lesson 3: Test style questions. There are fewer questions here, due to the volume of questions for the two previous activities. 
1. 0.4, 0.42, 0.49, 0.7, 0.73, 0.8, 0.95
0.4 = 0.40
0.7 = 0.70
0.8 = 0.80
2. Decimals written as fractions. 
a. 0.2 = 2/10 or 20/100
b. 0.67 = 67/100
c. 0.75 = 75/100 or ¾ 
d. 0.40 = 40/100 or 4/10 
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@ Work out the vlues of A B and C.

Give your answers s fractions ond decimals.
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Discuss your answer with a portner
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